F2EERGRREN o]

BRfE B+ . = 24 6H28H (|) NFEH Y =057

WA HEiAN T o ] Ak 66 A (B : 63N - ZtE : 3A)
HDCP LR :
fEfA=a—A: t 7 (1/1)
FMRGLRE : vy F o7 h—F (G ME) - Eid (@UVIE) FORI : &F0 248 6528H  (R)
BOL | BMEA e it} GROSS | HDCP | NET ikl NEfHL BINE 4 o i) GROSS | HDCP | NET =
B g B 39 38 el 4.1 62:9 41 fiL | @A FEE 41 50 91| 14.4] 76.6
EERE o x A TELT 40 42 82| 17.1| 64.9 12 fir | A =8 53 46 99 21.9| 77.1
(3 NI\ HREE 4] 44 85| 17.8] 67.2 43 fir | E [E%k 41 49 90| 12.7, 77.3
A f FR BB 38 | 39 il 9] era 44 fir L 7 48 | 52 100] 22.6| 77.4
& KR His 38 44 82| 14.7| 67.3 45 (L |ERE BRAER 44 49 93] 15.4| 77.6
6 hrydsA fE— 44 | 48 90| 22.6| 67.4 46 i | JIR M 19 50 99| 20.7| 78.3
g”%\ W F)5 38 42 80| 11.6/ 68.4 47 fir | 7SR FHhk 47 48 95| 16.7| 78.3
08 fill \3F 44 43 87| 18.4, 68.6 48 {ir | B35 BE 44 47 91 12.0{ 79.0
9‘1'\,? el 41 41 82! 13.2! 68.8 49 fir | R ok 47 47 94| 14.8] 79.2
10 {74 D #ar 37 44 81: 11.9] 69.1 50 {7 | thhd HFRE 51 48 991 19.2| 79.8
11 fAAF Bl 40 44 84! 14.5| 69.5 51 fir | farp #Ek 46 50 96, 16.0. 80.0
A2 | FEE B 44 44 881 17.8| 70.2 52 i |fAl Hi#A 44 48 92 11.7! 80.3
{3 fip| T4t B 39 | 43 82t 1191 70.3 53 fi | FHiE EH 45 | a4 89| 8.2 80.8
14 fF|EE E 46 43 89| 18.5| 70.5 54 fif | xR ZAHE 49 | 57 106/ 25.2! 80.8
a5 47 | HEA JeHl 41 45 86| 15.5| 70.5 55 fir  db)Il FEF 51 61 112{ 30.2| 81.8
16 fe | BRI BH 45 44 89| 17.6] 71.4 56 fir (1RIF EX 49 46 95! 13.1{ 81.9
17 fip| % BR 42 | 45 87| 15.5] 71.5 57 fif | BFMH 3% 55 | 46 101| 18.5| 82.5
A8 fipp| (FHiE =T 41 51 92| 20.4! 71.6 58 fir | T IET 47 57 104 21.4 82.6
9 Tn|7E% W 39 41 80 8 711 59 fir | 5 BAET 57 65 122 39.2] 82.8
120 T ZEE {RBR 42 46 88| 15.8| 72.2 60 fir | KA 5= 46 50 96| 12.9/ 83.1
2177 | s Br=#p 43 | 39 g2l 9.7 12.3 61 {if | BAE R 51 | 56 107] 23.8] 83.2
22 fir | 7789 E— 40 47 871 1471 72.3 62 i | B~ O s 55 51 106] 21.9] 84.1
23 fr |3 55 42 39 81 8.6/ 72.4 63 [ | IE¥5 —nk 49 57 106f 21.5/ 84.5
24 {7 |£FMA & 43 43 86| 13.5| 72.5 64 fif [ M FHF 47 56 103] 16.9| 86.1
25 {if {fEaA 37 46 83| 10.4] 72.6 65 ir | fEPY i 50 56 106 19.3| 86.7
26 {ir | Py kB 44 45 89| 16.01 73.0 RIE KA 44 44 88 0.0/ 88.0
27 {7 | witf e 45 45 90| 16.9] 73.1
28 fir | E=F AR TE3T 48 53 101 | 27,78 | 73:3
29 {7 | NiE = 47 49 96| 22.5/ 73.5
30 {7 | TR B 41 43 84| 10.3| 73.7
31 L | BAEE Bk 46 47 93] 19.0| 74.0
32 fL Bk BIHE 43 42 85! 10.7| 74.3
33 fir |WE M [EIHE 45 42 87| 12.4| 74.6
34 fir | =7 B5H 41 48 89 14.4| 74.6
35 {if | EE — 51 51 1021 27.1] 74,9
36 i | L & 43 48 91 16.1| 74.9
A fi=F W— 46 41 87 11.7} 75.3
8 frimE ——= 43 41 84| 8.4/ 75.6
39 fir | K& FAT 40 45 85 8.9 76.1
40 fir [TEM IEif 41 45 86 9.7 76.3




FRZEERG SR (-]

R R T - S0 24 6H28R (B) NBH D=5
BRI BEE AT R AL BTA (B : 63 A - i 4A)
HDCP -2 -
HR=x—-2: @ & a1/ n
FHERIRE : < oF I h—F(x vy ME - EiEVIE AN : &6 245 6H 280 (R)
HINE A JiL] 2 GROSS | HDCP | NET 5 BEQLE BIES il 2] GROSS | HDCP | NET {2
B T 40 33 73 8.1| 64.9 41 {7 | Pl Bk 47 41 88| 11.5] 76,5
i PN 42 40 82 17.1] s4.9 42 {7 5hE R 42 41 831 6.3 76.7
| WA KE 38 42 80| 15.1] 64.9 43 fir |42 fEiE 40 43 83 6.3 76.7
4 fi JkB RF ag 34 72{ 5.1| 66.9 44 fir | KB 85 45 42 871 9.7| 77.3
AL ek 48 44 927 24.7| 67.3 45 fi { PFF IEE 45 43 88] 10.5] 77.5
6 AritEe B 37 39 76 8.5| 67.5 46 it | /b 0 HH 44 45 86| 11.51 7.5
Sl EeE —m 35 41 76 8.4] B7.6 47 fif (B Bih 49 44 93| 14.9] 78.1
41 35 78 8.1 67.9 48 {ir | Py 7 40 43 83 4.91 78.1
36 41 77 9.1 67.9 49 fir | A% = 49 44 93] 14.7] 78.3
44 44 88| 20.0] 68.0 50 fif | 44 45 80| 10.6] 78.4
42 36 78 9.91 68.1 51 i | A IBE 38 47 85 6.2) 78.8
fird 39 43 82| 13.41 68.8 52 fif | FAE S5l 42 45 87 0] 79.0
13 (7R #5+ 39 40 190  9.8] 69.2 53 fir | #4428 & 43 48 01| 117} 79.3
14 {7 15088 T 41 40 81| 11.7! 69.3 54 fir | JEBF B 41 46 87| 7.6 79.4
RElEN 43 4] 84| 13.0f 71.0 55 fif | Il &H] 46 44 90! 10.5] 79.5
T BT 44 39 83| 1L7! 71.3 56 it | B 750 48 43 91| 14| 79.6
L —35) 41 41 82 10.8| 71.4 57 fL1BE = 44 40 84 4.2| 79.8
g Fan i 38 45 83] 11.4| 71.6 58 {if | FMEE 54T 44 53 97| 17.2| 79.8
RIS RBE 44 39 831 11.2| 71.8 59 fir &M Ei 44 42 86] 50| 81.0
0 fi F Y| HE— 41 38 79 7.2] 71.8 60 {if [iNE ¥ 54 48 102] 20.8| 81.2
91 {if |Enk 7% 39 43 821 10.2| 71.8 61 i ) Eim # 45 51 96] 13.8| 82.2
22 i | PAT Hx 41 40 81 9.1] 71.9 62 i i FEiik e 52 57 109] 26,4 82.6
23 fir ||l #z 42 42 84| 11..8| 72.2 63 {7im & 51 49 100 16.7] 83.3
24 i | @M Bi— 40 36 76 3.0] 73.0 64 i T B_ 49 50 99; 15.7] 83.3
25 fL|EE B 40 38 78 .5 73.5 65 7 | gfA AR 46 56 1021 17,21 84.8
26 ff [ R4 BEE 42 45 87| 13.5| 73.5 BN F\h 54 57 111 0.0 111.0
27 fif | HiR H— 37 41 78 4.5| 73.5 SH HF 52 50 102 0.0]102.0
28 {if |#Ex 7k & 45 39 84| 10.0f 74.0
29 fif | AR Hi— 40 39 79 5.0/ 74.0
30 ff | THE Sk 42 43 85| 10.7| 74.3
31 {7 &Il B 46 43 89| 14.6| 74.4
32 6L & 40 43 83 8.5 74.5
33 b S 45 47 92| 17.2]| 74.8
ML AE BB 41 40 81 5.9 75.1
35 fif | THE B 46 45 91| 15.9] 75.1
36 fif |3 L XN 42 41 33 7.31 75,7
37 47 | HE KE 40 42 82| 6.3] 75.7
38 (| ZH B 46 43 897 12.9| 76.1
39 fir |WBSF [GHE 44 49 931 16.8] 76.2
40 i | 8RR 2chE 46 46 92] 15.7] 76.3




PG TLEN [

BB =Fi 242 6 28H (8) NFH b )—2 5T
Bk VAN Sl ZMAE 63A (B 56N - otk TA)
HDCP TR :
FfA=—=2: @ o 1/
FUBRIRIE . = o FrFh—F Ry ME) - 4Rl (EVIE) FORI : 4Fn 24F 6H28H (H)
. BmEL i) H GROSS | HDCP | NET %= NEfr ZmEL ;2] s GROSS | HDCP | NET =
Ky 547 36 38 T4l 12:8) 61,2 41 fir | FER —3% 51 49 100 23.6 76.4
TR BT R 39 40 79, 17.2]| 61.8 42 fir | g Na— 46 44 90f{ 13.2! 76.8
3 0 ER 43 42 85| 22.7! 62.3 43 {7 | L kB 48 42 90 13.0f 77.0
4P TR 50 | 45 95| 32.3] 62.7 44 {7 | KE MEA 49 | sl 100] 23.0) 77.0
5 (i} ik 15 42 41 83| 18.2| 64.8 45 {ir | Tig; =] 52 45 97! 18.7. 78.3
(6 i M £ 38 43 81| 13.2] 67.8 46 fif | JRN EAE 45 43 88 9.7 78.3
7 L T 39 37 76| 7.5/ 68.5 47 fir |/ i 45 44 89 10.6 78.4
@ (D KAMR EBE 42 37 79| 10.4| 68.6 48 {i | @ Eif 45 39 84 5.2{ 78.8
9 fin) L/ngk mag 43 41 g4 137} 7o.3 49 fir | (L {H5E 47 48 " 95| 16.0] 79.0
10 fipl s T 45 51 96| 25.2| 70.8 50 fir | AMEE (R7E 49 19 98| 18.3| 79.7
11 find Ak 2N 41 45 86| 15.0] 71.0 51 fir | il eIk 48 48 96! 15.6] 80.4
2 (DA %2 46 | 39 Bl 199 11,1 52 fif | gfR FA 49 | 53 102] 209 81.1
13 LA % 42 41 83{i 11.94 T1.1 53 fir ({1 2= 52 47 99, 17.8] 81.2
4 R RE 43 42 85| 13.8] T71.2 54 L | dll HEfe 48 49 97| 15.4! 81.6
15 _fir| fede A 2 | 41 83| 11.7] 71.3 55 (i | A MElE 49 | 48 97| 14.3| 82.7
16 fird K& £ 42 | 42 84| 12.1| 71.9 56 {ir | £ — 48 | 55 103] 20.0] 83.0
17 fir | A R 44 44 88 16.1| 71.9 57 i | FHB PEE 47 45 92| 8.2| 83.8
18 fir| #A0H Fusk 43 42 85| 13.0] 72.0 58 fir | 3mA BB 55 50 105/ 19.9] 85.1
19 fird B1%Bcbk 47 39 86{ 13.6| 72.4 59 i | Bl sk 52 65 117{ 20.4| 96.6
20 fi| B MET 44 | 41 85| 12.3] 72.7 BT & 52 | 38 9| 0.0/ 90.0
21 {if |WBVE o 48 49 971 24.1f 72.9 I 47 51 98| | 0.0/ 98.0
22 {iL {FEM SF 46 50 96| 23.0/ 73.0 =8 T 42 44 86 0.0/ 86.0
23 L (EHA EE 41 40 81 7.2 73:8 A = 56 62 118 0.0} 118.0
24 fif /i IEE 47 47 94! 20.21 73.8
25 fir {IUTF {=% 53 49 102] 27.7| 74.3
26 i | A HE 39 39 78 .71 743
27 L | KiR 3L 41 43 84 9.7 74.3
28 (i (EA #E 42 43 85| 10.5; 74.5
29 (i | FPAf RIKER 44 44 88| 13.4] 74.6
30 {if (e A& AT 47 39 86| 11.3] 74.7
31 oL P FoiE 45 52 97| 22.2| 74.8
32 fir | KAR Hi=E 44 50 94| 10.0! 75.0
33 {r RJI SRR 49 45 94| 18.7| 75.3
34 (i 1 /I FAA 52 47 99! 23.6| 75.4
35 (L g BE 47 50 97| 21.5| 175.5
36 {if | JIiF —3k 47 49 96| 20.3| 75.7
37 4L | A EA 44 44 88! 12.2¢ 75.8
38 fir |{RME AEEMR 44 46 90! 14.1{ 75.9
39 fif | ERE IS 46 43 891 12.7| 176.3
40 {if |JAT SRR 50 | 50 100{ 23.7] 76.8 |




